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BEANRE AF07 4 R E B A LL M ) B BE (- 1 2m) o — U B SN T

% b Hg - kT B H = B h & %5 W =
EEISE 81,178, 368
FEE(-12m) r—v D 8lE 81,178, 368
AAEI [5—v o] 61,539,970
=y UBET 61,539,970
JEm 156, 480
1T L—D 4 0T 8ER 2 t=bem (FRRA#) 240. 00 652 156, 480
m2
Bi5 4,853, 622
2 SRBEPAA R IHZE 1,001.00 2,886 2, 888, 886
m2
3 NEIHZEL 864. 00 2,274 1,964, 736
m2
E>3:0] 22,758,197
4 SRERANTHANT SD345 D13 22,817.00 201 4,586, 217
kg
5 $kFhin T AT SD345 D16 7,171.00 200 1,434, 200
kg
6 $xFhinTHAST SD345 D19 14, 309. 00 200 2,861, 800
kg
T $8h N THAL SD345 D22 26,012.00 200 5,202, 400
kg
8 $xAhinTHAsT SD345 D25 23,189.00 200 4,637, 800
kg
9 MEKET - B/N— NHT690 D76 L=3.750m 24.00 155, 000 3,720, 000
.
10 BEkAEH - A/ \—HaL 3,420.00 91 311,220
kg




BEANRE AF07 4 R E B A LL M ) B BE (- 1 2m) o — U B SN T

% b I - kT B B = B & %8 W =

11 BKAMHE VP-75 1.00 4,560 4, 560
=

R 17,908, 367

12 S8R 248 ST 4R 4Y 2,803.00 6, 389 17,908, 367
m2

EDZ NN 15, 863, 304

13 avyy—riTER 30N-12cm-20mm (= %7B#&) (W/C=50%) 614. 00 25, 836 15, 863, 304
m3

EE#T 16, 057, 436

EEa S Y— T 16, 057, 436

%R 705, 680

14 ZREM N (EHRK) 40.00 17, 642 705, 680
m

215 712, 356

15 HEPHA R IHEI (EARN) 87.00 8,188 712, 356
m2

R 5,767,848

16 SHAE ALY (EHRK) 324.00 17, 802 5,767, 848
m2

GEAEE 66, 096

17 s E EEER t=10mm 24.00 2,754 66, 096
m2

avhy—+F 8, 805, 456

18 vy )— TR (BEL) 18N-8cm—40mm (= X7B#&) (W/C=65%) 277.00 23,888 6,616,976
m3




BEANRE AF07 4 R E B A LL M ) B BE (- 1 2m) o — U B SN T

£ kg Mg - KTk Bifg = B ® 5B wmE

19 325 )—MTEGEL) 18N-8cm—40mm (S 47B%&) (W/C=65%) 35.00 62, 528 2,188, 480

m 3
FET 3, 580, 962
R 2,948, 482
Rint 2,948, 482
20 ZEEET TOOKNE! gl 4% 2.00 41, 600 83, 200

e
21 {RARAEER{T TOOKNE! gl 4% 2.00 1,428, 285 2, 856, 570

e
22 {RMEBE 3.00 2,904 8,712

m2
Hit-BEYT 632, 480
BEM 632, 480
23 BEMET FILZH 40.00 15, 812 632, 480

m
HEBERERE FEL) 2,382,497
HiB R 2,382,497
HBRZE 2,382,497
EE 1,256, 955
BEMmWSREEER 1,256, 955
24 S fRFESER oB—39L—55t/m 1.00 1,256, 955 1, 256, 955

=
2eE 960, 542




BEANRE AF07 4 R E B A LL M ) B BE (- 1 2m) o — U B SN T

£ i R - BRTE B4 % 2 B i ® % wmE

REXER 960, 542
25 REERM FRP_D180PS k3£ 8R4 1.00 960, 542 960, 542

=
HifiEEE 165, 000
HiffiEE 165, 000
26 HMEERE HEREPAREBTIISE. T4V UV REH 1.00 165, 000 165, 000

%




M7 FEN HBEEFRILBR)EEC12m)r—Y BRSBTS

% g & - BARTE Bifg = B % i
EEIEH 81,178, 368
MEIRR 11,125,406 + 22,771, 341 33,896, 747
HBEREE GDH 2,382,497 + 8,174,661 + 568,248 11,125, 406
HBEREE (BE) 2,382,497
HBRERE (%) 81,178,368 x 10.07% ((4.98% x1.68 +1.50%) x 1.02) 8,174, 661
BSBRENER 81,178,368 x 0.70% 568, 248
RISEER 92,303,774 x 24.67% ((22.73% +1.22%) x 1.03) 22,771, 34
TR 81,178,368 + 33,896, 747 115,075, 115
—REEEZ 115,075,115 x 16.79% (16.79% x 1.00) — 2,256 19,318, 855
RERITE 115,075, 115 x 0. 04% 46,030
TSt 115,075,115 + 19,318,855 + 46,030 134,440, 000
HBEREHELE 134,440,000 x 10.00% 13, 444, 000
FRIZR 134, 440,000 + 13,444, 000 147, 884, 000




Rifiz -/ \v7r—o

BR7 X AR R EE-12m) 7y —Y VBB TS

51
B IL—T 4 VTR BR) t=bcm GRAH) 100m2&Y
2 o g - BIRTE By = B ff %8 " =
W=D 4 UTEE%
m2 100. 00 607. 00 60, 700
BRAZAE
m2 120. 00 37.50 4,500
& B YEZERES : 100.00m 2 652. 00 65, 200
52
27 - RS HERSEEL 100m2&Y
2 £ g - BIRTE By = B ff %8 " =
MBLAR R IFERL (r— Y V8lE) yL—dkE
m2 100. 00 2,652.00 265, 200
s0—5% L— GHEEEE) b5t
B 0.30 78, 110. 00 23,433 8H
& it YEZERES : 100.00m 2 2, 886. 00 288, 633
5 :3
& - NEIEEE 100m2%Y
2 £ g - BIRTE By = B ff %8 " =
RRIZZEI (r—Y »EE) yL—dkE
m2 100. 00 2, 040. 00 204, 000
s0—5% L— GHEEEE) b5t
B 0.30 78, 110. 00 23,433 8H
& it YEZERES : 100.00m 2 2,274.00 227,433
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&5 4
A% BkERANT4EST  SD345 D13 1000k g H Y
2 o g - BIRTE BT H = B ff %8 " =
5 (2R) SD345 D13
k g 1,030. 00 101. 00 104, 030
SAI T (r—Y > EE) yL—dkE
k g 1,000. 00 82.16 82,160
s0—5% L— GHEEEE) b5t
B 0.20 78, 110. 00 15, 622 8H
& H) EZEREH : 1,000.00k g 201. 00 201, 812
H#E:5
A% $kERANT4EST  SD345 D16 1000k g Z1 Y
2 £ g - BIRTE BT H = B ff %8 " =
5 (2R) SD345 D16
k g 1,030. 00 99. 50 102, 485
SR I (r—Y U EE) yL—dkE
k g 1,000. 00 82.16 82,160
s0—35% L— GHEEEE) b5t
B 0.20 78, 110. 00 15, 622 8H
& H) fEZEREH : 1,000.00k g 200. 00 200, 267
HS:6
A% $kERANT4EST  SD345 D19 1000k g Z1 Y
2 £ g - BIRTE BT H = B ff %8 " =
5 (2R) SD345 D19
k g 1,030. 00 99. 50 102, 485
SAI T (r—Y > EE) yL—dkE
k g 1,000. 00 82.16 82,160
s0—5% L— GHEEEE) b5t
B 0.20 78, 110. 00 15, 622 8H
& H) EZEREH : 1,000.00k g 200. 00 200, 267




Rifiz -/ \v7r—o

BR7 X AR R EE-12m) 7y —Y VBB TS

&#5:7
A% BRERANT4ESL  SD345 D22 1000k g H Y
2 o g - BIRTE BT H = B ff %8 " =
5 (2R) SD345 D22
k g 1,030. 00 99. 50 102, 485
SAI T (r—Y > EE) yL—dkE
k g 1,000. 00 82.16 82,160
s0—5% L— GHEEEE) b5t
B 0.20 78, 110. 00 15, 622 8H
& H) EZEREH : 1,000.00k g 200. 00 200, 267
H#5:8
A% BkERANT4EST  SD345 D25 1000k g Z1 Y
2 £ g - BIRTE BT H = B ff %8 " =
5 (2R) SD345 D25
k g 1,030. 00 99. 50 102, 485
SR I (r—Y U EE) yL—dkE
k g 1,000. 00 82.16 82,160
s0—35% L— GHEEEE) b5t
B 0.20 78, 110. 00 15, 622 8H
& H) fEZEREH : 1,000.00k g 200. 00 200, 267
H#5:9
2. mEkAER - m/N\— NHT690 D76 L=3.750m 1RxLHY
2 £ g - BIRTE BT H = B ff %8 " =
REkE - B/N— NHT690 D76 L=3.750m
ZN 1.00 155, 000. 00 155, 000
& it YEZERESN 1. 00K 155, 000. 00 155, 000




Rifiz -/ \v7r—o

BR7 X AR R EE-12m) 7y —Y VBB TS

&S5 :10
A REH - m/A—H 1000k g H Y
2 o g - BIRTE BT H = B ff %8 " =
mERAR - B/\—#aL %55 1Z50mm~ 80mmEK % o L— ik E
k g 1,000. 00 75.92 75, 920
s0—35% L— GhHEEE) b5t
B 0.20 78, 110. 00 15, 622 8H
& H) EZEREH :1,000.00k g 91.00 91,542
5: 1
&% EAKAHMEE VP-15 x (1)
2 £ g - BIRTE BT H = B ff %8 " =
mEy gt VE WPopT15 —fEE
m 4.00 1,140. 00 4,560
& it 1E%8EH : 1.00= 4, 560. 00 4,560
‘512
E2% e ey e v 1N 100m2&Y
2 £ g - BIRTE BT H = B ff %8 " =
BB AT RS (r— Y D ElE) yL—dkE
m2 100. 00 6,077.00 607, 700
s0—5% L— GHEEEE) b5t
B 0. 40 78, 110. 00 31, 244 8H
& it YEZERES : 100.00m 2 6, 389. 00 638, 944
&S :13
&M a0 ) —bTER 30N-12cm-20mm (5 %FBFE) (W/C=50%) 10m3&kY
2 £ g - BIRTE BT H = B ff %8 " =
LT4—3IHRbravyly—F 30N-12cm-20mm (& %FB#E) (W/C=50%)
m3 10.10 21, 050. 00 212, 605
a9 )— MTER(GT—Y U 8E) Ry JE
m3 10. 00 4,576.00 45, 760
& it YEZEHREN 0 10.00m 3 25, 836. 00 258, 365




Rifiz -/ \v7r—o

BR7 X AR R EE-12m) 7y —Y VBB TS

&S5 14
& XEMILEN (EHR) 100m Y
2 o g - BIRTE By = B ff %8 W= " =
FHRMILAN (EAHRK) yL—tkE
m 100. 00 7,488. 00 748, 800
5fn £HD 300PSEY
B 2.00 138, 113. 00 276,2262.00H / 8H
g L—rftEm 35~40t /R
B 2.00 369, 595. 00 739,190 6. 00H / 8H
& it YEZEREH : 100. 00m 17, 642. 00 1,764,216
515
2% ARREREEL (EAR) 100m2&Y
2 £ g - BIRTE By = B ff %8 W= " =
B R IEEEH (EHK) yL—dkE
m2 100. 00 3,111.00 311,100
g L—rftEm 35~40t /R
B 1.00 369, 595. 00 369, 595 6. 00H / 8H
5fn £HD 300PSEY
B 1.00 138, 113. 00 138,113/2.00H / 8H
& B YEZERES : 100.00m 2 8,188. 00 818, 808
&5 16
2 GBI EN (EHX) 100m2&Y
2 £ g - BIRTE By = B ff %8 W= " =
BB RETHN (EHK) yL—dkE
m2 100. 00 9, 682. 00 968, 200
STFL—rL—r A AR ER) CHEMHfES J&) 16tH
B 1.00 50, 500. 00 50, 500 8H
g L—rftEm 35~40t /R
B 1.50 369, 595. 00 554,392 6.00H / 8H
5fn £HD 300PSEY
B 1.50 138, 113. 00 207,169/2.00H / 8H
& B YEZERES : 100.00m 2 17, 802. 00 1, 780, 261
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BR7 X AR R EE-12m) 7y —Y VBB TS

&S .17
2% . BBt EFEER t=10mm 100m2%HY
2 L I - BIKTE BT = B %8 i & &
BFEEH®T (BEESR) t=10mm
m2 100. 00 2,754.00 275, 400
& H) 1EZ%8EH : 100.00m 2 2,754.00 275, 400
&S5 .18
¥ 3o ) — TR (ELE)  18N-8cm-40mm (= 4FBFE) (W/C=65%) 10m34Y
22 L I - BIKTE BT = B %8 i & &
LT4—3HAbavy)—+F 18N-8cm—40mm (5 kFB#&) (W/C=65%)
m3 10. 30 18, 750. 00 193,125
V9 — MTER (EBIHEE) R TJHE
m3 10. 00 4,576.00 45,760
& H) 1E%8E5 : 10.00m 3 23, 888. 00 238, 885
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BR7 X AR R EE-12m) 7y —Y VBB TS

&S5 19
ZM a0 ) — TR GBLE)  18N-8cm—40mm (5 %FBFE) (W/C=65%) m3 (100m 3)
2 o g - BIRTE By = =i} %8 W= " =
EEEHM GEMIERD) $HD 70t
B 3.00 728, 726. 00 2,186,178/6.00H / 8H
5fn £HD 550PSEY
B 3.00 225, 938. 00 677,814/2.00H / 8H
avHY—+rRUTE J— L= 90~110m3/h
B 2.00 100, 724. 00 201,448 6.80H / 8H
JL—oFtb39v9 4tFE 2.9t/
B 1.00 44,2717.00 44,277 5.80H / 8H
HEEE
A 3.00 31, 300. 00 93, 900
LU
A 6. 00 29, 640. 00 177, 840
HRIEXE
A 6. 00 217,770.00 166, 620
LEEXE
A 22.00 24, 020. 00 528, 440
LF4—3IHRbavy)y—+ 18N-8cm—40mm (= kFBF&E) (W/C=65%)
m3 103. 00 18, 750. 00 1,931, 250
BEH =g
= 1.00 214,000. 00 214,000
AN 2{KD%
% 0.50 6,221, 767. 00 31,108
& b YE%8EH : 100.00m 3 62, 528. 00 6,252, 875
&5 :20
B BEEMT  TOOKNE!BhiE 183Y (%)
2 £ g - BIRTE By = =i} %8 W= " =
EERIGHMET 700 —1000kN=R i
= 2.00 28, 600. 00 57,200
BT 700 — 1000kN=K 3%
= 2.00 13, 000. 00 26, 000
& b 1EZRER : 2. 00K 41, 600. 00 83, 200
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BR7 X AR R EE-12m) 7y —Y VBB TS

&5 21
B (RAAAEER{T  TOOKNE!ph#% 1B3Y Q%)
2 L7 g - BIRTE By = B O{f ) W= " =
Riat B, EHRE
= 2.00 1, 120, 000. 00 2, 240, 000
RARFEER T 150—1000kN=& 55 Gig L)
H 2.00 58, 240. 00 116, 480
g L—rftEm 35~40t /R
B 1.00 361, 978. 00 361,978/2.00H / 8H
5fn £HD 300PSE!
B 1.00 138, 113. 00 138,113/2.00H / 8H
& B 1EZ8ER : 2. 00K 1,428, 285. 00 2,856, 571
E5 .22
B RS 100m2%41)
2 L7 g - BIRTE By = B O{f ) W= " =
Rt EE TZ&+ EZE(2E)
m2 100. 00 2,904. 00 290, 400
& it YEZERES : 100.00m 2 2,904. 00 290, 400
5:23
& BEYRT FTILSH 100m b
2 L7 g - BIRTE By = B O{f ) W= " =
BeY &iE
m 100. 00 14, 200. 00 1,420, 000
BEwET ZRES
m 100. 00 1,612.00 161, 200
& it e85 : 100.00m 15, 812. 00 1,581, 200
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BR7 X AR R EE-12m) 7y —Y VBB TS

BS54
2% SEMEAER YDn—50L—55t/ 1KY
2 o g - BIRTE By = B ff %8 W= " =
STFL—riL—r A AR ER) CHEmfs> J&) 25tH
B 1.50 55, 100. 00 82, 650 8H
R IEXE
A 5.50 217,770.00 152,735
ERESEE HEEE DY
% 434. 00 235, 385. 00 1,021,570
& it 1E%8EH : 1.00= 1, 256, 955. 00 1, 256, 955
&S5 :25
2 KRB FRP_D1SOPS 7k Z8RERS 1KY
2 £ g - BIRTE By = B ff %8 W= " =
ZEERM FRP D 180PS%!
B 9.00 106, 196. 00 955, 764 6. 00H / 8H
MM 2RD%
% 0.50 955, 764. 00 4,778
& B 1E%8EH : 1.00= 960, 542. 00 960, 542
&S 26
&% HitEEE #AREIRAEITIE. E-42) O RAEHS 1KY
2 £ g - BIRTE By = B ff %8 W= " =
AREYHRRAE
I=E 1.00 120, 000. 00 120, 000
E-RYVIRE
“ 1.00 45, 000. 00 45, 000
& it 1E%8EH : 1.00= 165, 000. 00 165, 000




